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Note: Formatting of this form does
not allow for completion of Part 4.

See attached for Part 4 completion.



Arapahoe County Part 4 – Special Considerations 
 

1. Is the project a construction – or implementable-ready project? Yes, design is ongoing under 
CDOT.  Anticipate completing design and starting construction in FY 2020. 

2. Are there challenges with the project (ROW, EN, utilities, etc.)? No, the Town is unaware of any 
ROW, EN or utility conflicts. 

a. If yes, explain the challenge and how agency plan to address. N/A 
3. Are there other environmental or controversial issues associated with the project?  No, none 

the Town is aware of. 
4. Does the project or program benefit more than just the sponsoring agency and considered 

subregionally significant/transformative?   Yes, the Project alleviates operational and safety 
issues for workers, patrons; customers; healthcare services and healthcare recipients; for both 
Arapahoe and Adams Counties, as well as multiple DRCOG subregions including Denver, 
Jefferson and Weld Counties.  The Project benefits the Town’s multi-subregionally 
transformative identity as the ONLY I-70 Eastern Plains ‘Rural Town Center’ that provides higher 
education, mix of housing, commercial and retail, coupled with future plans for healthcare, 
improved regional trail connectivity and hotel/accommodations.   

5. Does the agency have capacity and expertise to manage a federal project?  Yes. 
a. Explain experience, approach, etc.  The Town has been partnering with CDOT on the 

first two phases of the SH 79 project:  1. First the SH 79 PEL; and 2. The 
environmental/design clearances for the UP/SH 79 grade separation project.  The Town 
will continue to partner with CDOT, as well as coordinate with both counties to ensure 
subregional and state needs are addressed in this third phase of the Town’s SH 79 plan.  

6. Is the project a next logical phase of a project funded in previous TIP cycles?  Yes, the two 
previous TIP-funded projects were the SH 79 PEL, which interchange improvements were 
identified, as well as the ongoing environmental clearance and design for the Union Pacific /SH 
79 underpass. 

7. Of the partnerships described in Section A, Question 7, are the partnerships providing 
funding?  Yes   

a. Described the partnerships and funding of such  Arapahoe County, Adams County and 
CDOT have committed $159k,  $300k and $500k in principle respectively; Bennett is 
requesting an additional $650k from the Adams Subregional Forum. 

8. Are there any other “special considerations” the committee should consider in evaluating the 
application?    Given this is the third phase of the SH 79 plan, which has been ongoing for more 
than 10 years, the Town’s policy and strategic direction are both proactive and pragmatic as 
we’ve planned-for and implemented the SH 79 plan and the associated land use as a rural town 
center, adhering to DRCOG’s Metro Vision Plan as a relatively compact and connected rural 
Town Center.    




